Augment = ¢ before consonant, o, € =T1; 0 = W; €I, &l =T); Ol = W; AU, EU=TU

Conjugation (w)

Mood = indicative: o before [, v; € before all other letters
subjunctive (present, aorist use present endings) lengthens to c/n

optative (wish) o1, at, €1

Active Voice

Present 1 Aorist Imperfect  Perfect Pluperfect Future
augment + augment + reduplication augment +
stem+ stem + stem + stem + perfect + stem +
vowel + ox vowel + K + vowel K + vowel 00, O¢
IS || w - ov — v W
2S5 || €S S €S S S Els
3S || et € € € 1 €l
1P || opev UEV UEV UEV UEV OMEV
2P || eT¢ TE TE TE TE ETE
3P || ouot v oav, ov v, Ol oov ouol
mf | €w no aug, -0l —KE—VXI v
Middle/Passive Voice
Present 1 Aorist Imperfect  Perfect Pluperfect  Future
augment + augment + reduplication = perfect
stem + stem + stem + stem stem +
vowel + M: oo + vowel + (no vowel) (no vowel) M: oo, ot
P: 6n P: Be/Bn+oo/oe
1S || poa unv/v unv Vedl unv Vedl
2S || n, oot 00/s 0o, ou oal (ofe} n, ool
3S || Tot TO/— TO Tal TO Tal
1P || pebo uebo/pev uebo uebo uebo uebo
2P || obe ofe/Te ofe ofe ofe ofe
3P| vTal vTo/cav VTO vTal VTO
inf | eoBa ofo1/Bnvat fo¢]eql oo




Second Aorist augment + 2" aorist stem + —, 5, ¢ / —pev, T, v; infinitive: Active 1Te1v,
Middle 1meoTal, Passive 1Tnval

In aorist and future with a suffix o, final stem vowel lengthens. Present and imperfect ending
in o, €, o contract final stem vowel.

Perfect contract verb lengthens final stem vowel, dyoamaw — nyomnka. Stem ending T, &, 0
drops whenk is added.

Reduplication initial consonant is duplicated with an €, Ae—Au—«ko, but d — m, x — K, 8 — T.
Initial vowel is lengthened: EAmiCw — nATika. Initial double consonant or p augments with
¢e. Reduplication comes between verb and preposition in compound verb (usually
lengthened vowel).

Liquid verb (ends in A, p, v, u future active/middle indicative the o becomes ¢, which then
contracts, so that kpive — KPIVOW — KPIVEW — KPIV@

Imperative: Present and aorist (without augment), second person plural is same as present active
indicative, distinguished by context, third person singular replaces final € of second person
plural with w. Third person plural replaces final € of second person plural with woov.

Mt conjugation:

Present reduplicates stem with first consonant and 1.

Aorist is formed from augmented stem with suffix ko.

Perfect reduplicates stem as usual with suffix k.

Future is formed from stem in regular manner.

Final vowels lengthen in singular but not plural. There is no variable vowel.
Endings are: y1, o, o1, uev, Te, Ol

Tense/ Aspect
Present Active: present time, continued action.
Imperfect: past time, continued action or intent not carried out in past, impossible wish.
Aorist: past time, indefinite action or inceptive, epistolary.
Future: future time, indefinite action.
Perfect: present time, completed action.
Pluperfect: past time, completed action.
Future perfect: future time, completed action.

5 7/
gl
Present ind Present subj Present impv Imperfect Future
1S || €t @ AUV goopal
28 || €1 fs 1ot ns tom
38 || eom f E0TW nv 0T
5 ’ > 5 ) ’
1P || sopev DUEV THEV goopeda
2P || eoté fte toTE NTe toeo0e
3P || €lot ol £0TWOVY foav EooVTAl
inf || €1vot




Declension

1M 1F IN 2M 2N 3 3 ot
N ns n o oS ov . o
G ou ns as ou ou 0s HOTOS
D n n o @ @ ! HOTL
A nv nv av ov ov o, v o
N ol ol (o €S HOTO
G wV wV wV wV U TV
D als als ols ol Hool
A as ous o as HOTO
Definite Article Pronoun
the I/we you he she it
M F N 1 2 M 3F 3N
N 0 n TO EYw ou autos | auTn auTO
G TOU ™ms Tou Hov oou auTol | aUTRs | auTou
D W 18 W pol ool aUTER auTh auT e
4 /7 4 4 ’ b 4 b ’ b ’
A TOV ™y TO HE ot auTtov | auTnV | auTo
e e 7’ iy ~ ¢ ~ b ’ b ’ b /7
N ol ol To NUELS UNELS auTol auTal auTo
G TGV TGV TGV MUV UNQV QUTV | QUTV | oUTQV
D TOlS Tl TOlS nHv UiV auUTOlS | auTals | oUTOlS
’ /’ /7 ¢ ~ ¢ ~ b 4 b 4 b ’
A Tous TOS To nuas UGS auTous | auTas | alTo

Nominative: subject of finite verb; predicate of LM, yfvouou; sometimes vocative with article.

Genitive: possessive; relationship; source; subjective noun of action expressing the doer; objective noun
of action expressing the receiver; material; contents; partitive expressing the whole of the noun
it modifies as a named part, portion, or characteristic; locative; measure; appositive;
comparative; price equivalent; time within which; qualitative; qualified; predicate of verbs of
sense, perception, memory, partaking, fullness or lack, accusing, separation; relationship;
genitive absolute (independent of clause).

Dative: indirect object, possession or relationship as predicate of eiut, ywouati; predicate of verbs of
belief, association, similarity; instrument or means; cause; time w hen; reference; measure or
degree; manner or mode; repeating idea of verb to emphasize.

Accusative: direct object of verb; subject of infinitive; extent of time or space; cognate that emphasizes
meaning of verb when related to verb.

comparative: stem + 1*, 2nd: Tepos, —a, —ov / 3rd: —lwv, —lwVv, —lov

superlative: stem + 1%, 2": TaTtos, —1n, —ov / 3™: —10TOS, —10TT, —1OTOV



Participles

Present Aorist
Active Middle/Passive Active Middle Passive
MN F MN F MN F MN F MN F
stem + stem +
ovT ouo OHEV ooavT | 0600 OO(UEV BevT Beio
3rd 1 st 2nd 1 st 3rd 1 st 2nd lst 3rd lst
Perfect Future (12 n NT)
Active Middle/Passive Active
MN F MN F MN F
reduplication + stem + stem +
KOT KUl HEV HEV oovT oouo
3rd 1 st 2nd 1 st 3rd 1 st
R Numerals
o £ls, Hia, €V 1 m oySorkovTa 80
B Svo 2 Q EVEVT|KOVT XX 90
Y TPElS, TPlX 3 P EKOTOV 100
S TECOOPES —O 4 S Siakooiol 200
€ TMEVTE 5 T TPIAKOG10! 300
S 34 6 v TETPOAKOCIOL 400
g ETTTA 7 ) TEVTAKOGIOL 500
n OKTG) 8 X eEakoaotol 600
6 EVVEQ 9 Y ETTOKOCIOL 700
1 Sekax 10 W OKTOKOO101 800
K £1K00| 20 2 EVOKOGIOI 900
A TPLOKOVTO 30 o XiAtol 1000
u TEOOOPAKOVTO 40 | Huplol 10,000
v TEVTTKOVTO 50
€ eEnkovra 60 an acute accent follows the final letter, it is
o eRSounkovTa 70 inverted under the letter to indicate 1000X




